FRE N PR F N F BT OEER RN (1 FE)

FRR22EI/ R

48 |58 |6 | 7B [ 88|98 |108|11A[128| 1B | 28 | 38 |EE:t
= HEZBNE| 100H5kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= B IEER % 00| ool o0o] o0/ o0 o0o] o0/ o0 o00o] 00 o0 o0 0.0
05 fas FHEEE| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
Bl ES % 00/ 00| 00 ool oo oo o00] 00/ 00 00 00 00 0.0
34 FEEAHZ| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= Bl ES % 00/ 00| oo ool oo oo o00] 00/ 00 00 o00f 00 0.0
454 #EEHE| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= RlEFI A E % 00/ oo o0o] 00 oo o0o] o0 oo o0o] 00 o00f o0 0.0
5E FEEAHZ| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= Bt ES % 00/ 00| oo ool oo oo o00] 00/ 00 00 o00f 00 0.0
62 1 FEEHE| 1005kWh 0 0 0 0 8| 883| 1,043 1011] 841 764| 945| 1,045] 6,540
= BB R E % 00/ ool o0o] 00| o8| 904 1034| 1036 834 758| 103.7| 1036] 55.1
72 1 %EEﬁ% 10075 kWh ol 186 970 931] 1,003 818 o| 632] 1,037] 1,038] 938 1,030] 8584
= ﬁ'*%ljﬁﬁi % 00| 185 99.4| 923| 99.4| 838| 00| 648| 1028 102.9] 102.9] 102.1 72.3
A&t % &% /12| 100/5kWh ol 187] 970] 931| 1,010 1,700] 1,043| 1,643] 1,879] 1,803| 1,883] 2,075] 15,124
N E N ES % 00| 31| 164 152| 165 288 171] 278 307 2905 341| 340] 210
E1) 1?**IJFH$(%) =REEH=E / (HH xEERE) x 100
F2) IFEEEAODEEH?R’C HAEDOBWEELHYET,
(1005 kWh) =T 4 =
5,000
4000 -
3,000 ~
2,000 ~
0 [ e B |_| |_| |_|
48 5H ©6H 7H 8RH 9H 10)51 11)5] 12)5] 1R 2J5] 38
40.0
35.0
30.0
250
20.0
15.0
10.0
5.0
0.0
4 AH 5H 6 A 7H 8H 9H 10A 118 12HA 1A 2A 3AH




